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PART . B

2.a) iDescribe the:advantages and AisaOvanrages of.,rhe
technologies for information browsing.
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3.a) Demonstrate the design-requirements for distributed architectures,
p).,...Explain how.evenrs are ordering"in real-time,with neat sketch,,. ..,.
i'""i i-':' ,'"", i'':' ;.:.i i=:' l'.'; i.,,' I : ;-"':

4.a) Explain airrer"* kinds or"pitur"*s that areiassociar.o *itt 
"ir,"

agreement in distributed systems.
b) Explain how election is done when any particular system crashes?

OR
5.a). ,""pifferentiate.failure assump$ioEs".and failure"detrctors. ...." i"...

ti)r i'l:11utoate an"i:i*rrple executibri'oi ttre rirg- das6ti algorithm,ta ini* rhar pidc6*ix *"
not necessarily granted entry to the critical section in-happened-before order. t5+51

b) Discuss how distributed systems are more scalable than the centralized systems. t5+51
OR

,. ".,..[.5+5]
'","'1 '.

coordination and
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6.a)
b)

8.a) Explain sequential consistency and IVY in detail.
b) Discuss in detail about Munin.

f.irf i'::u"nlain dirb6ttiily and diseoi,iitji'lervices. i.'."

b) Explain release consistency with an example.

;,$)i...Explain wltft i{h example thigr,!1",two transaQfi$$s are interl"eilf*Qd which
"" ' 'equivalent ar'each server but'iS'nbt serially eQuiVdlent globally? ' "

OR
11.a) Distinguish all the locking protocols in distributed transactions.

b) Discuss the edge-chasing algorithm. Give examples to show that it
phantom deadlocks.
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10.a) Define deadlock? And explain how deadlocks are occurred and recovered in the
. distributed systems?
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